
SAP ABAP table TBCHAIN2 {Bank Chains per Business Partner Account}

TBCHAIN2

MANDT [CLNT (3)]

BANKSREC [CHAR (3)]

BANKKREC [CHAR (15)]

BANKNREC [CHAR (35)]

WAERS [CUKY (5)]

BANKSSND [CHAR (3)]

BANKKSND [CHAR (15)]

UZAWE [CHAR (2)]

BNKA

MANDT [CLNT (3)]

BANKS [CHAR (3)]

BANKL [CHAR (15)]

 TBCHAIN2-BANKKREC = BNKA-BANKL 

0..N

1
 TBCHAIN2-BANKKSND = BNKA-BANKL 0..N

1

T000

MANDT [CLNT (3)]
 TBCHAIN2-MANDT = T000-MANDT 

0..N

1
T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 TBCHAIN2-BANKSREC = T005-LAND1 

0..N

1

 TBCHAIN2-BANKSSND = T005-LAND1 
0..N

1

T042F

MANDT [CLNT (3)]

UZAWE [CHAR (2)]

 TBCHAIN2-UZAWE = T042F-UZAWE 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 TBCHAIN2-WAERS = TCURC-WAERS 

0..N

1


